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= Year 7/8      = NUMBER      = Worksheet 5 (Written methods, no calculator)
	1. Calculate 
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	2. Calculate 
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	3. Calculate 
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	4. Simplify 
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	5. Calculate (a) 
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 (b) 
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 (c) 
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	6. Calculate (a) 
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	7. Calculate (a) 
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 (b) 
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	8. Simplify (a) 
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 (b) 
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	9. What is the weight of a person after losing 10% of 85.0 kg body weight?

	10. The average speed of a car is 72 km per hour. How long will it take to travel 180 km?

	11. How many 0.75 L bottles can 6.5 L of orange juice fill? How much is left over?

	Numerical, algebraic and worded answers.
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1.  5/9


2.  25/3 or 8 1/3


3.  3/16


4.  10


5.  (a) -21  (b) 5  (c) -21  (d) -21


6.  (a) -35  (b) -24  (c) 108  (d) 24


7.  (a) 2  (b) 0


8.  (a) 2/3  (b) 0


9.  76.5 kg


10.  2.5 hours


11.  8 bottles, 2/3 L
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